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Задание №L2_12

Вы  услышите  диалог. Определите,  какие  из  приведённых  утверждений  А–G  соответствуют
содержанию текста (1 – True), какие не соответствуют (2 – False) и о чём в тексте не сказано, то
есть  на  основании  текста  нельзя  дать  ни  положительного,  ни  отрицательного  ответа
(3  – Not stated).  Занесите номер выбранного Вами варианта ответа в таблицу. Вы услышите
запись дважды. 

 A. Anna is looking forward to the family holiday.
 B. Ben has watched all Disney cartoons.
 C. Anna thinks that only parents with children go to the cinema to see cartoons.
 D. Ben and his friends watch cartoons at Ben’s house.
 E. Anna thinks that some cartoons are like feature films.
 F. Anna thinks that Ben wouldn’t like going to Florida after all.
 G. Ben would like to meet Mickey Mouse.

Ответ:
Утверждение A B C D E F G

Соответствие диалогу
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